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(i) 8370000000
By ooy T e 1
; [2]
(&) Find, in standard form. the value of
(472 107%) = (83 x 107,
e e i =
13. (a) Write each of the following numbers in standard form.
(i) 23 million
{iiy 000098
[2]
(b} Find, in standard form, the value of (54 x 107 )% (3% 10%).
e — — — L-r
7. fa) Write the number twenty million in standard form.
.............................................................................................................................................................................. [[}
‘h)  Calculate, giving your answers in standard form correct to 2 significant figures.
M) @6 1077 % (72 % 10
................................................................................... - [2]
i1 56 |03
924 x 10"
............................................................ ll




16. (a} Write each of the following numbers in standard form.

() 03
[2]
i} Armrange the following in ascending order.
3% 10° 3x107 10° % 10* 10"
SoiaHedt s no o i T PO 1 13 — sl
(2]
9. fa) Wnieeach of the following numbers in standard form.
@ (i) 00047
(i) 32000
121
{#)  Find, in standard form, the value of
(21 % 1075 % (3 x 10%).
- 2]
(V) 34108 + 12 % 107
@ .....................




S

8. f(a) Write each of the following numbers in standard form.

(1) 5300

(2]
]
(b} Find, in standard form, the value of 22X m,_
® 107"
................................................. =
(¢) Find the value of (8 x10°)-(2x 107)
.............................................. 2
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(B} Hﬂﬂ'ﬁ; frﬂf:ﬂlhe pond at & rate of 50 litres per minute,
omplete the statement by inserting a val i
3 significant 1'Tgur.e-5|r:nmn‘EI o @ 3 value written in standard form, curraﬁ[:qj:
‘Water flows into the pond at arateof ... m* per second
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In the UK., some soft drinks are sold in cans.
T5% ol all these cans are made of aluminium.
Im 2008, 5 hillion aluminium cans were sold.

Criven that 1 billion is 1K) million, calculate how many of the cans that were sold i 2008 were
not made of aluminium.
Crive your answer in standard orm correct to two significant figures,
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